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1. 

(A)  20 Hz - 20,000 Hz 

(B)  10 Hz - 10,000 Hz

(C)  5 Hz - 5,000 Hz

(D)  50 Hz - 20,000 Hz

(E)  None of these

(A)  1 : 2  

(B)  2 : 1

(C)  1 : 3  

(D)  3 : 1

(E)  None of these

(A) 

(B) 

(C) 

(D)  All of these

(E)  None of these

4. 

(A)  Malleability 

(B)  Expansion 

(C) 

(D)  All of these

(E)  None of these

(A)  20 km (B)  10 km

(C)  30 km (D)  40 km

(E)  None of these

(A)  12 (B)  24

(C)  10 (D)  20

(E)  None of these
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total weight of grains in the godown.

(A)  114050 kg 

(B)  92550 kg
(C)  7853000 kg 

(D)  206600 kg
(E)  None of these

get which one of the followings?

(A)  87   
(B)  86
(C)  88   
(D)  89
(E)  None of these

of  
of  

(A)  50% 
(B)  25%
(C)  100% 
(D)  150% 
(E)  None of these

 , where

(A)   (B)  

(C)   (D)  

(E)  None of these

(A)  R (B)  W
(C)  Z (D)  V  
(E)  None of these

(A)  DFFHU 
(B)  HFFDU
(C)  UFHFD 
(D)  DHFDU 
(E)  None of these

Answers
1. (A) 2. (B) 3. (A) 4. (A) 5. (A) 6. (A)

7. (D) 8. (B) 9. (A) 10. (C) 11. (D) 12. (A)     


